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1.  Assume the Blackbox Theater with monopoly power sells concert tickets at the box office (B)
and on internet (I). The inverse demand functions are Pg =3 — 0.5B, and Py =7 — 0.51. The
theater’s short-run total cost function is STC = 4 + (B-+1). Determine the profit-maximizing
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prices and quantities in each market and the corresponding elasticities of demand. (10%)

2. Suppose the demand for crude oil is given by Q° = 4,000 — 100P, where QP is the quantity of oil
and P is the price per barrel. Also, assume that there are 100 identical producers of crude oil,
each with marginal cost SMC = 0.5q + 10, where q is a firm’s output. |
a.  Assuming each producer is a price taker, calculate the market equilibrium price and

quantity. (4%)

b.  Suppose now a new technology to extract shale cil, a substitute for conventional crude oil,
is developed by a potential price-leader firm, and this oil can be produced at a constant
marginal cost of $10. Assuming the supply behavior of the competitive fringe is not
changed by this innovation, how much should the price leader produce for profit
maximization? What will be the market price? (6%)

3. Suppose a fishing company is the only employer of labor in an area. The supply curve for
female workers is Lr = 400Wr, and for male workers is Ly = 100W)y + 200, where Wr and Wy
are the hourly wage rates paid to female and male workers, rcspectiirely. Assume that the firm
sell its fishes in a perfectly competitive market at $2 per unit, and each worker hired (both male
and female) can harvest 4 units per hour. If the firm wishes to maximize profits, how many
female and male workers should be hired and what will be he wage rates for female and male
workers?(10%)

4. Anthony, a PH.D. student in finance, is considering two mutually exclusive career paths: either
becoming a finance professor or becoming an asset manager in an investment firm. The
professcr career pays 1p=5$100,000 monthly; the asset manager, which has a 20% chance of
becoming stranded in a financial crisis, pays Iy monthly. Anthony’s preferences can be
represented by the utility function U = 1 — (100,000/L;) — a, j= P, M, where a = 0 if he is not
stranded and a = 1 if he is. Determine the risk premium Anth_pny requires for becoming an asset
manager. {10%) | |

‘5. Two Cournot fitmns produce homogeneous products at zero cost and both face the market
demand P = 30 - (q; + q2). The two firms are identical except that firm 1 is owner
managed—output is determined by the owner, who receives all the profits ( 77 ;). In contrast, the

owner of firm 2 has hired a manager based on a contract where the manager’s salary I, = 0.25 7

2 + 3qa, where 7 ; is the profits of firm 2. The owner of firm 2 receives profits net of the

manager’s salary. The manager of firm 2 makes all the output decisions and attempts to

maximize her salary. In equilibrium, what is the profit for owner of firm 1? For firm 2, what is
the manager’s salary and the net profit for owner?(10%)




B 3z o e KR 1048 5 AR 3 MR AR

PRl ke aR AT Fa(—4g4) #HE &FMHF # 2 B % >

e ELAELE 2a(—K4)

e

1.

AHAERRAURE | | ' XHABESE (F) MHES

= il GRERFEE 0 RYIE - BEEESEE R - FFEH)

According to the following information for each indicator listed below, please explain whether
the information suggests that a recession or expansion should be expected in the future. Be sure
to explain your prediction.

a. The price of crude oil is falling. (5 53)
b. Average initial weekly claims for unemployment insurance decreases. (5 43)

c. The interest rate spread between the 20-year government bond and 1-month government bonds
narrows. (5 47)
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H o oMl SFIEESE | #R85E 2 SRV EUHER (real consumption) @ yi Fll y2 53 BIEEE 1
FHERER 2 HARYE B PR3 (real income) » T H y1 =30 - EEEFR 11=7% B% > fLIBHIRIERLE
HEE =20  MEBEEFF 1 THER S % 0 BRIICIEREEN o G0 B BURREREEYS
EEH%} ’ 2EEEEHE_EQEE > (10 57)
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: @E%%J"ﬂ%ﬁ"?ﬁfﬁ?ﬁ% (full employment) EHIRRE - MR LIS PO ST E MR THHASNE

FRPER (unexpected monetary expansion policy) » $5 54 AD-AS K547 fLECR S MM -
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H L ARS5EE (quantity of labor) » K KEEAE (quantity of capital) » TAIRI{EEIZZ A4 _
[EEEENE (L =>500) HIEAR (K=-500)  RIEIE4: BRI AR » 4 =100 - - F{EIET
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a. DMEBIRAEEL (V) &5
b. WEEEZ Y ZEBIEES (marginal product of labor) $5zﬁ;?

c. HEHZKVEE TE (real wage) Bi5?

d DAk B R Y 25 B iS AL AR EE HAYEERY (labor's share of income) #iE?-
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